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FEENERE SHSFEREMME (FRKEMR) fE (—14m) BEREE (F2R)

£ g g - BAKTIE BfT 8 2 B ki £ m =
EERAEE 21,039, 290
HMSIFEER 21,039, 290
HMSIFEER 21,039, 290
HSFEE 20,797, 290
BREERE 559, 584
1 REERE 1.00 559, 584 559, 584
=
HSFEE 14,877,188
2 #fF - B 1.00 1,205,774 1,205,774
#H
3 HSEE (1) —RFEE. @AM 76.10 47,619 3,623, 805
km
4 HSEBEE (2) —RIFEE. FARA 157.70 52,910 8, 343, 907
km
5 BSEE (3) HRZEE. FAME 32.20 52,910 1,703, 702
km
fRMT 5,184,418
6 &R 159. 30 32, 545 5,184,418
km
i - |E 176, 100
1 ERIRE 1.00 58, 700 58, 700
]
8 ke 1.00 58, 700 58, 700
]
9 BRRHE 1.00 58, 700 58, 700
]




BEANRE SHISEREEPIMEE (FREAEHR) S (—14m) SRS (B2R)

E#EEE 242,000
S 200, 000
10 #HHRA 1.00 200, 000 200, 000

=
Z 0t 42,000
1 EIEERE E-AYUIHRE 1.00 42,000 42,000
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RiEx SHI54 EEPINES (REUKEHR) fiES (—14m) S RE (H2R)
% g R - KSR Bifr 2 B i & B &

ERAEE 12,703,120
ERE 12,703,120 x 64.5% — 6,632 8,186, 880
REEHE 12,703,120 + 8,186, 880 20, 890, 000
B R 8,136,170 + 200, 000 8,336,170
EEAGE 8,136,170
EERE 200, 000
T DR 8,136,170 x 53.85% ( 35% + (1 — 35% ) ) 4,381,327
RHRIE 8,336,170 + 4,381,327 12,717, 497
—REEES 12,717,497 x 53.85% ( 35% + (1 — 35%) ) — 5,869 6, 842, 503
BEHES T 12,717,497 + 6,842,503 19, 560, 000
KBS 20,890,000 + 19, 560, 000 40, 450, 000
HEREELE 40,450,000 x 10.00% 4,045, 000
HRREXB(IEE 40,450,000 + 4,045, 000 44,495, 000
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H#5 1
275 REER 1XEY
2 b g - BIRTE By = B 4 ) # i

HEnE

A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)

A 2.50 62, 200. 00 155, 500
AR (A)

A 2.50 55, 200. 00 138, 000
HEm (B)

A 1.00 45, 300. 00 45, 300
AR (C)

A 0.50 35, 600. 00 17, 800
BIEFEHEM

A 1.00 51, 000. 00 51,000
RIS HRER

A 1.00 44,000. 00 44,000
Bl S H A

A 1.00 34, 300. 00 34, 300
MR 2E0%

% 0.50 556, 800. 00 2,784
& B 1E%HeH - 1.00K 559, 584. 00 559, 584
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25 EilE - BE IED)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 3.00 3,270.00 9,810/2.00H / 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.50 23,925. 00 35, 887
5fin D 200PSEY
B 0.75 188, 965. 00 141,723 6.00H / 8H
HAEER FRP
B 2.25 58, 410. 00 131, 422 8H
FEHRAR (F%ET)
A 2.25 62, 200. 00 139, 950
AR (A)
A 3.38 55, 200. 00 186, 576
HEm (B)
A 2.63 45, 300. 00 119, 139
RIS HRER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.50 34, 300. 00 51,450
BEBF
A 4.50 32, 200. 00 144, 900
BIEHEE
A 4.50 217,000. 00 121, 500
MM 2E0%
% 5.00 1,148, 357. 00 57,417
& B 1YE%HEH - 1.0048 1, 205, 774. 00 1,205, 774
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& BREE (1) —XEE. mARA 1B&HY (14km)
2 b g - BIRTE By = il ® W = " =
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
5fin D 200PSEY
B 1.00 188, 965. 00 188,965 6. 00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 00 9, 256
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
M 2E0%
% 2.00 653, 601. 00 13,072
& B YEZRESN - 14.00km 47,619. 00 666, 673
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& BREE (2) —RXEE. AR 1B&Y (12.6km)
2 b g - BIRTE By = il 4 ) W = " =
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
5fin D 200PSEY
B 1.00 188, 965. 00 188,965 6. 00H / 8H
HEAH FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER WMSIEEETRIEE O /L, HEIEes. EkER
B 1.00 23,925. 00 23,925
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
B 1.00 9, 256. 00 9, 256
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEENF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
M 2E0%
% 2.00 653, 601. 00 13,072
& B YEZRESN 1 12.60km 52,910. 00 666, 673
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&5 :5
& MRIEE (3) WHREE. FAR 1BHY (12.6km)
2 b g - BIRTE By = il ® W = " =
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
5fin D 200PSEY
B 1.00 188, 965. 00 188,965 6. 00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 00 9, 256
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.00 45, 300. 00 45, 300
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
M 2E0%
% 2.00 653, 601. 00 13,072
& B YEZRESN 1 12.60km 52,910. 00 666, 673
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&S .6
B . BREN 100km= Y
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 12.00 62, 200. 00 746, 400
AR (A)
A 16. 00 55, 200. 00 883, 200
HEm (B)
A 16. 00 45, 300. 00 724, 800
RIS HRER
A 8.00 44,000. 00 352, 000
Bl S H A
A 8.00 34, 300. 00 274, 400
BEBF
A 8.00 32, 200. 00 257, 600
MR 2E0%
% 0.50 3, 238, 400. 00 16, 192
& B YEZERES : 100.00k m 32, 545. 00 3, 254, 592
&5 .1
¥ BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHER - 1.00[E 58, 700. 00 58, 700
5.8
& PRERE HEED)
2 b g - BIRTE By = BHoO(f %8 # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHEH - 1.00[E 58, 700. 00 58, 700
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59
£ EW|E HEED)
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.50 55, 200. 00 217,600
& Hi 1YEZHEH - 1.00[E 58, 700. 00 58, 700
&5 :10
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeH - 1.00K 200, 000. 00 200, 000
&5 11
&% EIKREHRE E-4YVIJHRE 1LY
2 b g - BIRTE By = BHO(f %8 # " =
MEIERERAE
= 1.00 42,000. 00 42,000
& B 1E%HeH - 1.00K 42,000. 00 42,000




